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SECTION-A
Choose the correct answer : Ix10=19

0% Teaht AR Threar -
0% Ter @ e -
A4 feaarret arrg”
SIS
(i)  Which of the following is not an example of metalloid ?
S CFICHT 4G T Bt 72y 9
e s srowm Swe T 2
T e g R T
= 8 & B wigeen =1 g i

(@ Si BT Ge
{c) B (d) Al

1.

@ Which of the following compound is used in soda — acid fire extinguisher ?
O (D! (1 X' s e ot e 2 v 2 — .

e m Al FTret- =i s e T arer v = —
mﬁm&@ﬂ@a‘m—qﬁsm@ﬁmmmm_
T & & o Afires 1 Swi it st srferemes & Re s 7
(@) NaCl (b) Na,CO,

Maﬂco3 (d) NH,CI

(iii) Decomposition of vegetable matters into compost is an example of which of
the following class of reaction ?

mmwwm@mmmwm
Tzt 2

RIS FCTR 16w AR R 2 Mesn o i Rfdware Sorgmer o K

ﬁm%ﬁmmmmﬁmmﬁﬁ&? :
e e o an  arawed fe i & fiew i w1 ow s b -
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(a) Endothermic reaction (b) Exothermic reaction

oo R sroRE ffaFnt
iota®) fRifirat wiord fRfaF
Feane arffsran Femnadt srfufsra
(c) Both (d) None of the above
T @9 Gh1S %Y
Tert o whe W
M ® T Hide T
1l . I | R T

(iv) When electric current is passed through the coil of a solenoid, then the
magnetic field

smwﬁwmmm@@w,mm—
FIEET-9F PadATs ARIAY 77l IR e e@r 7S &, e
m_

mﬁh@wﬁama\%ﬂmmwm—

st fereft aftrferent it Sreeh o forga wafaa 2t @ aa Jahig & -

(a) increases along the direction of current.

ARG 23 fopers A
RS £RTR Frs I
¥ grEnf ferma amme
frmmEr R e iagamt |

(b) decreases along the direction of current.

RS ez frre MR
RIS &R e IR

L ie KA O RUICRCILUIE
faga e A R Az I ¥
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(c) remains the same at all times.
T TS (L A
FEW AW G YIFI
TR T T AT
SRR R s

(d) becomes zero

. mom
e 2 2
TR

i’ JeA

AR

(v) Which of the following is used to  measure the potential difference of a
circuit ?

T (PO IS e com fafy 7are qemo = -

e @md 3677 Rew cov P e = |

TR AT wies ety s g e -

farelt aitay & fenraia Y am & forg frmr o @ ferarent wim R s 27

(a) Ammeter (b) Voltmeter
it SHRbR
o= SRR
PR Wi
Laic e

(¢) Galvanometer (d) Multimeter
TS b TROR
RS Ltk
e fren wifeefier
et TR
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.
Gi) ich of the following is a conventional source of energy ?

— TG TS R A= wifesd e 9

e e srmermmrs wfRex Best 2

TIETaT T A e S T 7 &

fatadnasaim s aad 7

(a) Wind energy (b) Nuclear energy
g = ' e e
g = Refmefe
TR Wi TRTaRT Wi
TGS Tfiver Fort

(c) Geo-thermal energy (d) Wéve energy
- e Rt e
G-oift o e
o farg wfa et R
CGURE S Uk

(vii) Which of the following can depleted Ozone layer ?
TS THS (I & & B G IR 91T —

e e o 37 s IS A 2
MEATE T T ARG 'S O I’ B Fy 7
= % @ 99 3N W@ Y orowfie S EwaT A

(a) Chloroflouro carbon (b) Nitrogen .
FIUPY I ARG T
FIAIGPILH &R BlL e
TR H 1L TACE
TR IR T E) fAE
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() Hydrogen (d) Oxygen
TR T | IR
RIRTRITE SRS
4L CRET] R
TR S

(viii) Which of the following constitute a food chain ?

TS ST I (FIARIE A0 X237 o107 I ?

e @msR M e 95 IR ?

TERETE T A e sy fEfs g ¢

e B 4 B oTER e 1 Pt e 7

(a) Grass, Wheat and Mango
W, T98 S A
T, oW R N
ﬂf&ﬁ,mmm @M
T, g T JH

(b) Grass, Goat and Human
1z, Qo =¥ qiegz
QA Q97 938 T
Y, FRET R AR
Y, FH{1 7T 7AS

(¢) Goat, Cow and Elephant

o, o1% % T
g, 1% (3R YRS
wra, Wi 3 A
wH), Ty agr ot
B23-GS (EN/AS/BN/BD/HN) p
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(d) Grass, Fish and Goat

g, TE F Qo

TFT, TR GREH Mg
T, AW S | =
TH, TSelt auT gl

(ix) Which of the following is responsible for change in the curvature of eye
lenses ?

TS TR 2T A3 539 I 3T AR 7w 2
e @Wba o= (10T T 3Tt AfRRES =W 2

TEETE HE AT W1 UTEH W S=a (Y ST ST Sl ?
NP &9 i T § wiads F fae e § @ 9 o ® 7

(a) Retina (b) Iris
wfipefh 53 “1!
sl IS ER I
e I
gt qieTiET

(c) Ciliary muscles (d) Optic nerve
R Y
B oo g
faferaft = TRETR =Y
vt At 3% dte

(x) The focal length of a lens is 1 mefre. Its power is
TR ¥ T3 7Y 1 bR, waret 23 —

@b TR e e | b, o% e e —
=0 7Y ©'w Ay 1 e, 4 T srie -
feft ota Y B gl 1 e} | et e vt -

(1) 05D (b) 1D
(¢ 15D (d) 2D
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' 1x10=1g
2. Choose the correct answer of the following :

TS o - Bwarht Af Sveat
e W Sef @ s -
TR TR 3 e e’
= % it s

(i) Image formed by a concave mirror is

SRTH R o1f5S eifdsfg

wRE wefe oI eifefy

BT HAFAET AR aaEsT —
FFAS UV GRT 51 wfofer g & —

(a) real and diminished

AL HIF HPoS

TR quT B =
(b) real and enlarged

AR qF s

AR @R R3fEe

IR AR T

qreafess qun faafiiq
(¢) virtual and enlarged

e, % RIS
TR @3} Ffe
qAy 3 T
T aun faaftia

(d) virtual and diminished
TR HIF AT

A Q3R FAPBS
TRy 30 R
ATt e B
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(i) If the refractive index of glass is 1.5, then speed of light in glass is
F5A 2ot 1.5 7o, F5S g e 7T -

PSR TETAAI 1.5 T, FIT5 I B A —
et Riteam frmmn 1.5 e, e |ty @i S
Ui Wi 1 Avadw 1.5k, A s I mm R e -

(8 2x108mss (b) 3x10°m/s
(©) 2.25x108mss S (d). 3x108m/s

(iii) Breakdown of glucose into pyruvate takes place in the

HRw Georw b oRwTent ks o - mSm
HTRIS O3 I3 I I ARFTES “AfAIAES T — =
TTH A TR TEENEAN A T -
TR 1 TR H e B ¥ -
(a) Cell cytoplasm (b) Mitochondria
B PRI RIEIE LTI
[SARERIE e TEDEATS
frafly A AT§e Hfogarr
Hif¥r 7o & ARG A
(c) Cell membrane (d) Golgi body
TRIERATS ST S
CITEA G ooiAfst e
Rref v e wfar
wiftven fireeft o Tenft =t
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(iv) The energy currency for most of the cellular processes 15

et el aiftrg il 3@ 0T
PR ot il efdraR i gt e

rivwifer Rrafrntt feanff erama Rt TERIGaT I -

Fftrrin S worl & g st gE 2 -

() ADP (b) AMP

(c) ATP @ Co,

(v) The gap between the two neurons is called a
70! RILPIR A1 =77 5123 et 2 — =
7S NILPICER TIF IRYMDE 01
A femfaRaf o s srameh g9
2 it SifEsT & T e e B e d -

(a) dendrite © (®) synapse
TOTRIRD QAR
(TTEIRG | T
SR I
PLaT siesfer
(¢) axon (d) nerve ending
i O b
LIIE O AT
LosEd farg ey
e At w1 Jif Ry
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(vi) Which of the following is a plant hormone ?

T (IO Y B 2w’ 7

e e aweria SRew v 2 LU

TR A W AT T El_

= 3 % o W o Treg At d 7

(a) Insulin - (b) Thyroxin
SRR Ve
L3y | SiLeiE o
LG yTgre
W yTRITRe

() Oestrogen | (d) Cytokinin

T | oI5 iR

Ll ' HIRCBIPIRf
T | T’ HIE
TR - ARERRA

he process of giving rise to new individual organisms from the body parts
of many fully differentiated organisms is known as

fom =t AR 7% GiR Przes oy @I W9 ~[1% Tgw @bt eerR Qg

Teofe 34 317 #fa1 &f b w3 =W —
fom == RFAE g G TR (T P S (WT TG 43I0 AT G
Teoifig TR efdFnbe It
MET AT T A THER <8 AEPNHHE e vgen e dwle gem
faranfRrah g s -
yoiedur feifee Sfa otae wifae Wi sruiq gwsl @ e A ¥ Refm R o # |
b kR s of £

B23-GS (EN/AS/BN/BD/HN) 11 3050

https://www.assamboard.com



(a8) Regeneration

IR QR

Yol iLE
i

NRELE

(c) Fragmentation

Reesm
Rrews

T TN

[CEC

(viii) Binary fission occurs in _
R-Rerem afir wwbe o -
fA-Rerem afirn srafbe o -

(b)

(d)

QEA FrEEEE @R s SRy -

flasr g -

(a) Amoeba
TS
SRS
oftET e
st &

(¢) Planaria

TR
i elE L)
R I

A §
B23-GS (EN/AS/BN/BD/HN)
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(b)

(d)

Budding
A

T

e FETE™ ﬁ

9T

Fission

e 31 RomeH |
e 3 Rere |
HraEaE

fa@eA

Paramoecium

TR IS
RIS
Tt I
Jufifiem §

All of these

Q% SBIRIRTS |
9% TRGRTS |

¥ T
wft §
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(iX) An example of homologous organs are

FRE Heory Bt et e —
AT SO 43S TR T —
TER T AR iR e -
AT 37T 1 0 I € -

(a) wings of a bird and a bat
TR OB I IR (ST |

IR T 3R AR O |
& gaft 3R ToTee ¥ T

(b) wings of a butterfly and a bat
/2T +iifY <% IR oo |

2T+ T 932 IR T |
fafaffr m s anernfeafs e
T faaett 3 IwTeE % Uw

(c) wings of a pigeon and hands of man

1A Y &% I IS |

YA 1 AR AT 43R TR T |
b i S R e

T HYR P TG 3 wHE & Ty

(d) wings of a parrot and a honey bee

S HARA ~A1fY = (M ¥

forenfim Tt w3k (MR T |

WY’ Zr3fy 777 ST W A -

T A ik Ayl % v
B23-GS (EN/AS/BN/BD/HN) 13
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' ; i le sex i
(X) Which of the following chromosome sets will determin® the male sex in 5

human infant ?

TR RO T T S TG s g et o R 7
TN o GRTCAICON (T Ao STSTGee Cov 5P e 1Al 403 2
TR R S T AR Ty ey e R arem 7
P 3 & 9 1 Toreg v g e e g (orgen) fofm 1 frafor wem 2

(a) XX (b) XY
() XO d YO
3. Fill in the gaps : LIfeyLI] 1x10=10

A SR A T - Eﬁ

W o I

WA AT TG @A™ -

e el 1 g B

@ The hydrocarbon which is the major component of Compressed Natural Gas %

(CNG) is :

B9 NS AP (1eF 21yi= Toim 22 o Ry ' |
D19 AP Al T et Soime 2Rrerewesf @ |
AT TR ey e arEe weg S e

TR St ahfea wpfos fa Fr g ImeR |

@ The product ‘X’ of the following reaction is
wery RfFaR Ritrrers g <X’ =3
Aesz Rfdrmida Rt smid x> o
Trerafy Rerememyty Reemen gan <X 3n ST

= rfiefiran & smamesw X0}
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-
@) When iron is mixed with nickel and chromium, we get an alloy named

TR #e N W whwn e ot o AR g ns, IR oA
1

e —————

TR % e w3k i e e wmr o3l 7R 4y 2, R AW
!

e ee——

|
AR B AFet o FfEm F oy fem & = AHF T HTg 9T
Bard |

@Tbe process by which some organisms fulfil their carbon and energy
requirements and yields their stored form of energy is

WQWWWWWWWWWWW
3 IR 1% PR AT Fow Yt 1 Beotmm 3 |

T @b &fFn 17 A Foeeh R o I GR® e
BIFRA 9 BT GAR SITR WS F0 Aot *1 Besim 37 |

3 et 7 Ry sty R g Ree it s sm
wfFaty T 31 Trem! FR SerE) i, SRy wEe S |
SR 3T 5 e e 3R ot Y St st B o wa # 3k

I e St @ A P ¥ | DRl
v) | and | are the reproductive parts of a flower which
contain the germ — cells.
% T'H oI ToR & 29 TS S Iy Ro
I | ,
93] T G IO LT R A S R
i |
am S ¥R Rl s e Se s
forafrera amt |
L g5 & % W & R em wfrend g § |
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Qﬁﬂ}\ feedback mechanism regulates the action ofthe ____——

et fem g
gy ol vt 3 faFut foarger 2 |
TR gHRe Ry e iy eyl =TT |
ezt vofr H e P s k|
(vi)) The __ mirror is used as rear view in vehicles.
KJWWM - A TS & |
st forew s (R oy 7o IRTS H |
TR STHERE T AT WTETEAE W |

e Sve et & T g gl & wu A R e ¥

@ electric generator, energy converted from energy to
i energy. .
Qe (oAb = ofa R AT = |
AT (ARG = (AT =TS TG |
afREIREn_ wfww wifFafee diemy |
T 9 & it =1 waTRw Fai @ Faid R R |

" (ix)\ The 3" trophic level of a food chain is . ~n
,
. WRIT GO WA 2 A | - %

A R T B 2 | =
s Ry ey dveton |
STTER FEel 1 ey Ieft e @ |

T

| (x)\\\When combustion takes p;]ace in insufficient air (oxygen)
plloduces.
N STETR SRS o 7z R TR Beomg oy |
T AHCHTTR TS ot vz o T Beorm v |
T Affeef aeEE gt e e dmbngy
F e ) Iufeufy & 7e7 TR ™ ﬁ“mﬁ?ﬁtl

B23-GS (EN/AS/BN/BD/HN) 16 |
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4.  Answer in very short :

1x10=10
o S B

S Sefwe aw e T

i gk e 8

A dig & I 3

() AmongK, Na, Ca and Mg, which one is the least reactive metal ?

K, Na, Ca W1¥ Mg 3 fbeas @M e witigeta o3 2
K, Na, Ca 93 Mg - @7 f¥wrz mmiba Aftrret 711 (e 39 2
K, Na, Ca 3 Mg % wrera arfx wimifran safers @ 7
K,Na, Ca 3t Mg # R ¥R v sw afrg urg 7

- (Ii)‘ '_ On heating gypsum at 373 K, it loses water molecule and produces a white

powder. What is the chemical formula of the white powder ?

o 373 K Sarors Teg R Wwimwﬁ«wm@m«mﬁﬁ
T | 3901 AR e e AR fora |

fEermee 373 K Sweon Ted 30 weR 9 IR G eIER Mt SR
Teom W | Mt TR AT FE @ |

Ry 373 K gameame ggere 30 2 Tmmet TR de T aeen
i | A TH TEeRiY TR wogerE) i 2

foreem ) 373 K T 903 et 6 it ) s e R ot v @ ol
wren & | ¥8 w1 vaEfE s w7
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(i) Write the thermite reaction.

< Rt fre |

i RfdFmfd et | mem
awfire fememeah for | B
yfife aifirfimar =t fafaa |

@Sodium react violently with cold water and immediately catches fire due to
the liberation of a particular gas. Identify the gas :

B AN A St SN w1 e @ R TR TS @3 Rew $9e
ored eom T IR TerEet ffiRTS uR afn B | ot Reew o Ry e
|

CTfEaT 41g Sat STe AF 299 @ RidFn 337 30 @3 ReE w@em e
Teom T | IR Forwmet PR Siew w0t ot | TR Rves b »mire 3t |

w'feam wrgan g 9 Maid feemrs Sty s S gia Jawf |
i | wmaf feums 7 wEmee o Share | 2 v e Rl e |

mm@mﬁmmammtwmmﬁmu
el sffafad 7

(v) What is the least distance of distinct vision of normal eye ?
TR TR O AR =1 7% e % Rt 7
TR T BI0S W) 8 R FUSA RIS 7
ARTHE A Sl grErE JEr T ¥ GaiE ST W@ 7
W 3R i v oe & Ry g gl g 7

(vi) State the S.1. unit of electric charge.

T WA .1, 93 fort |
T TR S 1, G (W |
afere /ity 8.1 wrmfe f |

forga Jmdw %1 S, W W d ¢

B23-GS (EN/AS/BN/BD/HN) 18
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o -

@Who first discovered that moving magnet can generate electric current in a
coil ?

TR R AR TS AR ez A R (R e WiReA
iR 2

DRI QA A AT wapies e’ R zenft @ aew wniRwm
TR 2

grae fifdmafy st dieurgar dfemw g dwfmmeh s fify g ¢

Wﬁmw?ﬂﬁmﬁﬁgﬁmﬁ@mmtmmm
forma fomam an 7

at is the approximate percentage of methane in Bio-gas ?

ST Ty wnemifos et R 7
, Egm
TRSR free S =i 7 2 ' Eﬁ
Frait Tramme ety S we ST daET ?
Ja A & s = wfews o Rea @} 7

(ix) What will happen if a person consumes iodine deficient food ?
TR o [ T SR e 41w ozt I (ofem 5 2'3 #Ia 2

R 9T i I RS TASRET Iy 429 I B39 73 208 ANE 2
RN w8 ggE fe I A stEme I g S e 31 9 E@wh 2
afe Y =fa mﬁmmﬁmmm%gﬁw@m% ?

(x) How would you define a ‘gene’ ?
R’ @b et o @ it 2
@3S o’ @7 Hew i Prenz fiz 2
T DRy gerf 3w g ¢
19 “H" Y o A L T K 7
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§. Determine true or false : I1x$§=$§
] 3t 7 Refy 7w

meﬁ‘ﬁIW' n
w8 91 e i foofg i

(i) In modem periodic table, elements are arranged in 18 vertical columns and 7
horizontal rows.

e e ot (Marre 185 i wwe wF T SEhRE AT
TN TR |

i e Siften Maski 1% Sew v w7 SRR AR
ST ZACE |

TieH AR 9 @194 TR qamiteh 79 18 ik e o 7 7 sasTi
AIRATE INgTg AR |

Iy anad aroft #, ol ) 18 S wvt aun 7 SR ofRw § safa fear
TR |

(i) Precipitation reactions produce insoluble salts.
QYT RIFTIS 7Ry o/ Seom = |

YT RIS ety 7199 Beom o7 |
M1 feemamgare nfafy Wiy |y |
Iraaqu iR Sfaeg Fau I = R |

(111) Non-metals can displace hydrogen from dilute acids.

7Y T~ YR 22 T RIS IR o |
Y PG (U TG LRI LSS TS #N17H |
e frEfimm aigafyan Eg Se AR T |
g a3 St A EESA Y ety wawd ¥ )
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(iv) Coliform is a group of bacteria, found in human brain.

v 1 AR st Ry e e coiat O |
CiRrt ST bRt T s wercw e |

Hiern G APt rermeh st s AR |
Fiefent T dfen wg we afess TR IR E | "

(v) Roots, stems and leaves of some plants develop into new plants through
vegetative propagation.
e TR frett, 19 w1 st «1a1 e Rwgraer carostf e SRev A
| |
TR TR Fry, e @R =S RT3 A RYRTR Tow T BRer™
e
AEHIA AAH T |
56 Il it 9z, 7 qur et w1l yads g sl A T da s
w | |

SECTION-B

6. Write one method for the preparation of bleaching powder. Write two uses of it.
1+1=2
fafSe ~1Emx ergeaac QB oS fBrar | ffte «rSwraa 7bt Tza fonet |

fafte TR eETTATR 3D &S et | Ffte e 4 1w e |
fRarfti TreBR WA AR aew for | AR TR B wmr |
firtores 01 ¥ IEATEA W1 T Aot Ffar | v 3t Iwaim fafa |

B23-GS (EN/AS/BN/BD/HN) 21 3050

https://www.assamboard.com



7. Find the product of the following reactions : 1+1=2

TR A REFE Sesifre g3y ot |
Tt e el g -
e srfvfaii 3 searg T

(@) CaCOy + HyO) + COy —
(b) Na,CO,+10H,0 —»

8. How metallic character of elements changes across periods and groups of periodic
table. Explain. 2

Ty SIferea o1 % I oy «f Rrca RIS 78 Gt I |

RIS SIIR i 3= e8RS yrodiy ot e “ifads =0 1 I |
SRR 9 AT ST R TSR aiganit Simn aree S 39 |

e ot % At o wEl # et o w3 aRafie g 2 7 T
i |

9. (a) Reaction between ethanoic acid and sodium carbonate produces a sal,
CO, and water. What is the salt ? 1

AR afbs ot = o s iR were ofb 7, Co, wire «if 7
W | 7R R am R 2

RART IS aa&lmmmw 43 T, CO, 43 SR
AR Rafbram$ 2 o

TR Tt ST wfdamm et iowra iy S AR G, CO, 3M
amfya sy gera ¢
@mmmaﬁmmﬁﬁz%ﬂaaﬁfmﬁ%wwmﬁmqa

, I P | T A AR 7
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(b) Find ‘X" :
X R
X R
‘X' AT ?
‘X wRe

CHyCH,0H -2, cH,co0H

mgE
2.

10. Draw the ray diagram for the image formation by a convex lens, when object is

- 11,

placed at centre of curvature. 2
TG (TR G¥T S 4 SR A B 2fefe 5 i s 4 |

43 TG TR St YIS T RTY 63 2o s aPufde o e |

T A TR S fireara Sei gan enfge 3 e dmfAmafy de aEmi snf |
I 9 g0 T el w1 o fewr s dife, 9w g ara S fRE R |

Decomposition of 2 g of ferrous sulphate crystals when heated generated 1 g solid
oxide and two different gases. Identify the solid oxide and both the gases by
writing proper chemical reaction. 2

oot et 2g TR RIS wihes favaree 1 1g i ST wiE 1B R o
Beow oW | ATEAE IR R Fi ot it e o R fw o
fore 351 |

oiof et 2g @I ARG “wibier R b 1g 99 iR 93 73 QR
Beoy 3q | AEIEAE AEfE R firy o oHits 0 43 @R ST TR
IR

farg, Freivaen 2¢ W WrehE T MTAATG TR 1g TN SFTEE AN TR A AW
qafrR | ity aifed TaR e e T T SR R WA A
ety gem ) -

2g ¥A T & P B ™ FW W 9 AR\ B 1g 3w e ol @
- et &1 Iares e ¥ | e teEi wftfen « e w3
e aw Rt At S ofg |
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12.

13.

14.

15.

What do you mean by Corrosion and Rancidity ? Explain with examples. 1+1=2

ST W DR e i gen 7 A TRES i 3 |
ST @ @B Forre $ car 2 Sonee ST G IR |
ST AT By g w1y 7 iR dwmemme daT |
areor 3 frgeer viftren & o w7 S wfv o IR |

Write four properties of magnetic lines of force.

TBree oA GifdGT of frey |

LI
Bre IR oAl o et | "ﬁ
TS QITTEGIS I Sreftfy 5 d 90w o |
TEHI & TEAT F IR i ) ferRe |

Write two disadvantages of fossil fuels.

ERMIETS X 751 Sy fret |
GRIMISTS XECR 55 SR R |
TS W AT A ey o |
Shtaredft du= it 3 it fafaa |

State any two methods in reducing the problem of waste disposal.

CIARTEN ISR TP HRAera 751 ofs Sogre 3 |
B frefer ST @R o s S A |
a2, angrafemafs e wmmEmfy 2 sreE T |
FaU 192 6 wven w1 w0 ¥ frg Realt @) adet w1 9ol S |
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16.

17.

18.

19.

Why should we conserve forests and wildlife ?

31 W 3 @it e steamer g e 2

T R IRLTYR @ e 90 2 2

mmmmmmm ?

W T3 T 7 S w1 s gt o ik 7 LU
[=

What is meant by power of accommodation of the eye ?
T3 SIS ot Ifere 5 qut 9

COICHR BT St Io7TS B QA 9

W TSR T8 g e 71 gt 7

W= FH & w1 R R 2

State two factors does the resistance of a conductor depend.

AT Ay e =t 7t T B o
R @1y frsa 73t 7 It ekt |
Rt o ST B SrERTEt R |

2 P! i ferfae i w et ames o wfeda sk w1

An electric motor takes 5 A from a 220 V line. Determine the power of the motor

and the energy consumed in 2 hours.

2

o1 QAT W6 220 V A 1 5 A AR AN | WAL TS| S1F 2 TS L W

a1 =i TRrea |

<M TR GAITA 220 V AR (U0F 5 A 2RI G | BRI WS e 7R T

afSz T e R IR

TR R 720 DA 220 V OARHE 5 A €9 @R | 9@ Tl am 2 geEE

A T TR T |

#f firgm st 220 V & Rga S @ 5 A Rrga aro e & | s i Pt

G e 2 w2 & BT R G HAT qRewfere R |
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20. What is Blood pressure ? What are systolic and diastolic pressures ? What should

: o 2
be the normal systolic as well as diastolic pressure values of a normal person
“n+l1+4%h=12

TIor R 7 58 fore s e oiot e 2 W T B8 TR B1et
IR for e T R czrat Bt 2

TS A 7 P w3 SR v & 9 3ow TrER AERd Freefere st
G TR BT M S 267 /S 7

& TRUTE W ? AR AT SR T TRy W2 g W S
YA A TRYUTE AR TRl TRy faarer e s T 2

TR 1} 7 WG o 3R srffem g wn # ¢ wee w1 awe e ok
rgffer 2w g ¢

OR /1% / QR / T / 3%
What is lymph ? How does it differ from plasma ? What are their functions ?
“L+Y+1=12
TR 6 7 SIS T ] R Sj208 2 QR FRITE 13 16 9
wre W 2 et (ed b P 9w 7 i FrowE R 9
ferman m 2 o 390wl e 7 IERR @mfEm T w2
TR RN e A R AR EEF | "

21. What is a neuromuscular junction ? How does a nerve impulse travels from one
part to the other part of the body ? “B+1hh=2

LI AT 5 2 43 B PR R W e TN @R 21l
B ?

TR e B 2 = AR G e (W SR e Wegemen ey et
7

fidm At Swmen w7 Wl TR AEEREE TR O TR e
A At gt 2

aifien Jefta wftr o & 7 fivr S o T R 3 O WA R o o AR wd .

OR / %1831 / w3} / quT / wmn
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22.

Draw a neat labelled diagram of a nerve cell and state its function. 1%2+%=2

TP SBR @ ~1fera i i sire s o 316 79 741 |

T W @ i ot i s e o w1 7@ 2 |

feiter v w7 i Rl fafrgs wr s o afy amnfeh ¥ |
T AT BRI 61 T s qun 79 Hl w5 i I |

Give the differences between binary fission and multiple fission. 2

fa-Rrerem e Tefrerem qrem <ndzm 7o |
fR-Rerem wz Rt T s e | -

U
T ST S i s R R | e
meﬁmwﬁml

OR /1%t / %Rt / Tt / reret

State the advantages in plants raised through vegetative propagation. 2
iR Rt ~1afoa art Sestvm 34t 3R Ty s s s R o I 79
0
S R WW@QWWWW ot o F s siew i e
A1
HRATR AR TEES REATHTE ATHGBRIA AT HT 71 @I A1 g1 46 |
FHIfe aH= & g I T Nyl R Fr-Fa1 glaumd B # fofee )

What factors could lead to the rise of a new species ? 2

Bt T erenifed Besifled AT R 6 PR et e 7
aaf T e Besifen vy 6 ¥ i wepemen ¢ 2

" Y e wifve AR ATET W AT e R

Y e § ) T wfivhia S pra i wEas § 2
OR / &A1/ BTN/ Tt / 3roqan
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If both parents as well as the children are found to possess light eye colour then,
according to you the light eye colour trait is of dominant or recessive nature ?
Explain why or why not. 2

TR I~ RIS 0 (OSTITRA TBIR TRICENG B #Ireet 349 I T (AR 1
B °I1e7 T IR CaBh! (oM TS ererdt (7 w-ereid T T 2 R
AT I A |

T Prer-sret (R N Sivm TeIERt GeR 2o 3 79 IR O GBI
Rt AR e PR coR W et At Wi TR T ? @AW A
Y I IR TR |
W R - o A e R T ey Ay v T Qe R
Ay v AT S SR AR s M 1 T TR S
AT ? AT A TS AT 3G |
o S (TR e = QR ) oiE T 1 A @ T R @ ste
Whmmmémm?mﬁmmﬁmﬁﬁ? |

""

=

24. (a) Comment on the electrical conductivity of ionic compounds in solid and
molten states, 1+1=2

A QR IR 7Y I Rerfdre s Rigs “Rafor s e
1 |

mmmwwﬁmwﬁmmmm
I |

mmmmmmwmﬁ«mmm.
mmﬁmmmﬂmmmmw.
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(b) How electrolytic reduction is used for the extraction of metals ? 1

WMWﬁmmﬂﬁ%www?
4 P R R smfs Rrera a72m 331 2 2
vy fefra' e difew fiftng’snft sRTeR TREE! TER - aEREE

I ?

urq freameior & forga arquesft argeram @1 wav 3 e S & 7
Me®
O

25. An object of size 7 cm is placed at 27 cm in front of a concave mirror of focal
length 18 cm. At what distance from the mirror should a screen be placed, so that
a sharp focussed image can be obtained ? Find the size and the nature of the

image. https://www.assamboard.com

18 om T'TE T S ATAH Q97 TLIS 27 cm TGS 7 cm SFEA 77 D1 31
TR | AT oA R TS o @4 R0 OIS = oo Qa2 « bt

IR AT 7 efSfra s = &l et = |

43 18 cm CIIRPI PNAA SR AT TTE 27 cm TACE 7 cm SRR G T8
a1t TR | A (U 3 RS 3 oA AT GIbTS B Slow 28wt @b
2R “inew TR 7 &fERTER TR o &Ffs A It |

7 3fy TreurEfy FFE AR gErE! 18 A FHE TEUT N T GO AR
e 27 M e e we | e eeE SRl e arEr Sarfert
TR AT TS SR ? AT HEg AR g fog |

a7 1 fire 18 om Wi g ¥ frelt sreet Tl % WA 27 om g T

3

7 cm
T} 1mﬁmaﬁWMﬁﬁr@ﬁmmaﬁmwmmﬂm
R o T 7 WRTNE ST ETES! qUT N A HIAC |
OR /%3 / B3t/ a1 / Y=
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A 2 cm tall object is placed perpendicular to the principal axis of a convex }ens of
focal length 10 cm. The distance of the object from the lens is 15 cm. Find the
nature, position and size of the image. 3

2 cm THOR 7@ Bl 10 cm F'IIE T TG (PR 9 TP T TFOIL T
T | IR R TR A 15 cm | R e, s S o e |
2 cm THOR @3 7@ 10 om @R AR <3 TeA @R T TR TLN
TSI AN ZEAN | (T8 (T W TRG 15 om | 2RI e ST 4R
i frfa aat |

10 aft w'Fm@ IUm 1 g Safy e saf gEE 2 3y e IR JeR
Tt i SRET St | AT AR gaTty ST 15 3 | gy g,
urafy AR ey wEEh fig | | |

®1¢ 2 cm &1 ¥ 10 cm B g 3 Reht 3ot oty % 7o v % wEaa @@ b | R

R AN 15 cm } | wfofer € yfy, fRafy 7o wvgw 3 Fifde | mom

]
26. What is the full form of ‘ATP’ ? Why is it called as the ‘energy currency’ for most

of the cellular processes ? How do ‘ATP’ molecules produced ? What is an
‘Endothermic process’ ? How do ‘ATP’ molecules used to drive these processes ?

Yt Vit 1+ Y+ % =3
‘ATP’ 3 5~o(fienht R 2 st coilfin ofermR ovas 2o @i 21 #fe sur 3fen
@RI R 7 ATP’ - I SRR @A Teerfirs 20 2 ieian®) aiferm &5 2 ATP?
AR TR ST SR A CFAS (T IIZR 41 ZH 2
‘ATP” - @3 5= b B 7 RSt @il afram cwta ot i 2t et
TN @ ? ATP - 93 WG o Tesifrs =0 2 S effesm 2 <ATP?
WYBRTE QERATIR &AW S OB SR IRYA I T 2
ATP 1 a1g wea w1 ¢ Meife Rrafaah el Semm se fefeh wr afe
TR T G AR A 7 CATP 3 IR et swfi 2 fg demn
fe@nfRan w7 ATP TEFTeRE! F6R frERaE e SeEE Tt T
S ? |
oA, 1 S w7 e AR S 3 R e ¥
HTH o7 1 X 7 70 oA & ARSI § T it 1 3w 45 B # -

OR /%31 / 53! / T / e
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What are the methods of excretion used by the plants to get rid of the excretory
materials ? 2+1=3

How do the strategies differ from that of the animals ?

TGS MR a1 Tt~ SRers e R Wwmm &f3ra Sercarer I3 7 @R
23T ATt 71 et Sz 2Ty 2T 3 FPIETSLd (FTTC (9 ?

TGS el (T T sfrenr T Bew 6 e e eifdr Soe IR 7 @]
SIS STt FT FPETTE enfia 2Tt Tt FIE (UTE ST 14 7

Tfs R qewrRwE Yafy B e W A e e e 7
@R TR ST RS SEaTE Sy Al & ?

ool et & TR T 3 R ey P Sea faftrdt 3w w € 7 3 Rt
Sgei AP AR 7

UL
o]
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